
https://www.science.smith.edu/~jcrouser/SDS293/lectures/10-linear-model-selection-pt1.pdf
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Y ≈ β0 +β1X1 +...+βpXp
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Grandma SDS

Best Subset Selection

Preheat the null model M0 with no predictors.

1. For k = 1, 2,  … , p:
a. Fit all the models that contain exactly k predictors.
b. Keep only the model with the smallest training error. Call it Mk.

2. Estimate the error, and select a single “best” model from among M0 … Mp

Preheat t
First divide the data into training and test sets

ection

ororrrrrrsssssssssssss....* on the training set

^ Calculate the error rate on the test set

Kids these days, wastin’ 
data all willy-nilly 
like it grows on trees!



Grandma SDS

Best Subset Selection

Preheat the null model M0 with no predictors.

1. For k = 1, 2,  … , p:
a. Fit all the models that contain exactly k predictors.
b. Keep only the model with the smallest training error. Call it Mk.

2. Estimate the error, and select a single “best” model from among M0 … Mp

Preheat t

^ Use k-fold cross-validation to calculate the CV error

Good grief, child! 
I’m never going to 
make it to bingo!
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